
 Quiz 9     

 

SBU 2020 Lesson 9 (quiz)   

 

 

1) Partner opens 1 

 Define the main features, and give examples of, hands that would make these responses: 

 a) 2  ................   

    ...............  Point range ________________________ 

    ............... 

    ...............  Distribution ________________________ 

 

 

 b) 1NT  ............... 

     ..............  Point range ________________________ 

    ............... 

    ...............  Distribution ________________________ 

 

 

 c) 2NT  ............... 

    ..............  Point range ________________________ 

    .............. 

    ...............  Distribution ________________________ 

 

 

 d) 3  ............... 

    ...............  Point range ________________________ 

    ............... 

    ...............  Distribution ________________________ 
    

 

 

 

2) You open 1  with these hands 

  a)  AJ976 b)  AQ986 c)  AK8653 d)  AQ65 

    K75   9   8   KJ8 

    2   KJ52   KQ4   K53 

    AJ84   AQ2   AQ2   Q104 

 

 What is your rebid if partner responds 

i)  2  _________ ________ ________ _________ 

 

ii) 1NT _________ ________ ________ _________ 

 

iii) 3 ___________ _________ _________ __________ 


